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1. IBCF5%:
TEAN A R TTER A EL R b, DAASFP = i T A B A R FEEECR AR, B Al A i
PRoTike, SR AT 2 iR AR B A R S A — O
TR
(1) HEIMBCT bR 5Tk
(2) LAV ERE
(3) BT A T T S A U B A
[BIRR) FAFEHE AL B C =My, FE N5 20 78, 30 7T, 40 7o FliH84 8 =438 30000
4. 20000 {4, 10000 4 FiTH 457 AL AS Bl A4 512 12 J6. 24 JT. 28 J6; W & A S84 180000
JU,
BUR: HMBCFERE T2 M mr A s A A
[f#EHT] A, B. C =Fr=ilibaotEk R 518 40%. 20%F1 30%.
A PR AY B HL R = 600000/1600000 X 100% = 37.5%
B 7= i B4 H EE = 600000/1600000 % 100% = 37.5%
C 7= )4 8 b B = 400000/1600000 % 100% = 25%
LR BRTTHR S = 40% X 37.5%+20% % 37.5%+30% X 25% = 30%
o SEAIRBRTTRR SR = 480000/1600000 = 30%
ZEE B S AT RS B = 180000/30% = 600000 (JT)
A PR BT TS BT = 600000 % 37.5% = 225000 (JT)
B =i BT AR B0 = 600000 X 37.5% = 225000 (JC)
C FERBL 5 TA A4 8545 = 600000 x 25% = 150000 (JT)
PR i R 28 A B 5 0 0 o B DA i B A, T DASK S BT s Tl B
A PR BT T B R = 225000420 = 11250 (1)
B FE LT VA B B = 225000+30 = 7500 ()
C P i85 A sy B i = 150000+40 = 3750 (14)
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WA AN, A2 T8 SE L AR ) — 2=, BN, ERIEAF=H . 20 =R, BH=8 6
Z IR R KRR E S R LB 2 2R, PR R 10 20 3. FBA, LUEHEN. 2 R R 3 RN
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TR
(1) HEBCA RN, B A S A B A I B AR Bl AR
(2)  THER A SR G R AR
(3)  AMFERERAEALL, SRS IS TSR B B R AR
[BIRR) FAFEHE AL B C =My, BE SN 25158 20 78, 30 7T, 40 7o FliH84 8 =438 30000
4. 20000 . 10000 4 FiTH 457 AL Bl A5 512 12 J6. 24 JT. 28 J6; W[ & A S84 180000
TC. BER: HBCA B T2 M I AR 5 R oA
[fEdr) FmmaElL=A: B: C=3: 2: 1

A B = 20 X 3+30 X 2+40 X 1 =160 (JT)

IR A BN B AR = 12 X 3+24 X 2428 X 1 =112 (JC)

e 25 A s A 5 B = 180000/ (160-112) =3750 (1)
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A PR BT PR B R = 3750 X 3= 11250 ({4)

B r= T A A B R = 3750 x 2= 7500 (%)

C PemmBL 5 AT A 5 = 3750 x 1 =3750 (1)



